—
!;?EQQER48 MULTIFUNCTION LOFT BED

www.dock48.com Full or Full/Full
customerservice@dock48.com Assembly Instructions

CONGRATULATIONS,

Thank you for purchasing your Multifunction Loft Bed.
Before you begin, we recommend that you thoroughly read
these instructions. Do not use power screwdrivers. All of our
beds are made from natural woods. Please understand that
natural woods have color variations which are the result of
nature and not defects in workmanship.

**Please note these assembly instructions show the
assembly for the staircase being assembled on the right
side. If you prefer the staircase on the left side, please
change the sides in Steps 3 and 4.

MATTRESS SPECIFICATIONS

The following size mattresses and slat rolls are specified for use with this loft bed.

MATTRESSES:
Full - 54” to 557 W 74” to 75” L x 8'4” H max Upper Loft Bed Mattress Diagram
SLAT ROLL (CONSISTING OF 13 SLATYS): & MINIMUM DISTANGE
Full - 54 9/16” W X 24" L x %”H FROM TOP OF MATTRESS
**THESE SPECIFICATIONS MUST l CUARDRAIL
BE STRICTLY ADHERED TOO in
order to avoid the possibility of falling A
and/or entrapment. o

THICKNESS MATTRESS

SIDE RAIL

FAILURE TO FOLLOW THESE-SAEETY-AND WARNING GUIOELINES
CAN RESULT IN SERIOUS INJURY OR DEATH

e Do not allow jumping on the bed.

Page 1 of 10



Always use the recommended size mattress to prevent possible entrapment or falls.

Do not use wood plugs if you have a child under the age of 6 in the house.

Periodically check that all screws are tight and secure as they can become loose during normal use
of bed. DO NOT OVERTIGHTEN!

DO NOT place loft bed near a window where cords from blinds or curtains may strangle a child.
DO NOT substitute parts. Please contact us immediately for replacement parts or questions.
Follow the information on the WARNING LABELS appearing on the upper loft bed end structure
and on the carton... DO NOT REMOVE THE WARNING LABEL FROM THE BED!
Surface of the mattress must be at least 5 inches (127 mm) below the upper edge of guard rails.
Do not allow children under 6 years of age to use the upper bunk.

Periodically check and ensure that the guardrail, and other components are in their proper
position, free from damage, and that all screws are tight.

Always use the staircase option for entering and leaving the upper loft bed.

Use of night light may provide an added safety precaution for a child using the upper loft bed.
Always use guardrails on both long sides of the upper loft bed. If the loft bed will be placed next
to a wall, the guardrails that run the full length of the bed should be placed against the wall to
prevent entrapment between the bed and the wall.

The use of water or sleep flotation mattresses are prohibited.

Keep these instructions for future reference.

STRANGULATION HAZARD — NEVER attach or hang items to any part of the loft bed that are
not designed for use with the bed. For example, but not limited to hooks, belts, jump ropes, and
etc.

CARE AND CLEANING

Do NOT use abrasive chemicals for cleaning. Dust often using a clean, soft, and dry cloth.
Rinse and dry cloth thoroughly after use.

Be careful not to place your furniture in direct sunlight for extended periods of time. As
prolonged direct exposure to sunlight can discolor the finish.

As with all spills, gently blot off spills of any liquids immediately.

If the loft bed is to be stored; store in a cool, dry place; and carefully package all original
hardware to protect from loss.

If you choose to refinish the furniture; the warranty will be voided.

Multifunction Loft Bed Parts List

Part# Description Q’ty | | Part#| Description | Q’ty

A Bookcase Drawer Chest 1 J Drawer Front 1

Page 2 of 10



B Bookcase Side Panel 1 K Drawer Side 2
C Bookcase Shelf Panel 3 L Long Drawer 1
D Bookcase Top Panel 1 M Drawer Chest Box 1
E Full Upper Headboard 1 N Outside — Board 1
F Full Tall Headboard 1 @ Lower Headboards 2
G Side Rails 4 P Bar Supports 1
H Long Guard Rail 2 Q Upper Slat Roll 1
I Back board 1 R Lower Slat Roll 1

**NOTE: Please decide
as laying out your pieces
If the staircase will be

assembled on the left
or right side.

Part #| |

Page 3 of 10




1 |Barrel Bolts X @15 x 70 mm / 16
2  |Cross Dowels X @12 x 15 mm &0 21
3 |Barrel Bolts ix @15 x 60 mm v 9
4 |Barrel Bolts Ix @15 x 50 mm 'l 10
5 |Barrel Bolts X @15 x 35 mm 16
6 |Cross Dowels X @10 x 12 mm ) 4
7  |Barrel Bolts X @12 x 30 mm 12
8  |Wood Dowels @10 x 30 mm & 2
9 |Screws @8 x 35 mm & 58
10  |Allen Key M4 0 1
1 (I_Zggtﬁb\ll\elheels 5 2
12 ggslgecrk\?\lljilwiels ﬁ 2

TOOLS NEEDED:

Philip Screwdriver (Not included)

Multifunction Loft Bed ASS%>
Step 1

Page 4 of 10




Please take out drawers in order from upper to lower and place them next to you from
assembly. Please do not place the drawers in the wrong order. If place in wrong order

they will be unstable.

Step 2
Please place the drawers in the proper
order after you assemble the whole chest.

. “ w
\ A\ .
\ N
\ AN\
\ }
. N \
. =\
A AWMLY AN
L)
\\% % %‘
a\Va AV n\Y

Step 3

Please foll

2.
Y Ay N
N\ Py AN .
A A\
\ 0 A\
\ \ ¥ A\
\ \ A\
\¥ A A\
ALY AY A\
Ay A\ .
A\V4 V4 N\

Page 5 of 10



Left side assembly -
attached part E to part D
here on this side of parts
Aand B

Right side assembly -
attached part E to part D
here on this side of parts A
and B

/

Step 4

: 1
**For stair M assembly
on the left side- \ assemble
part F on the left side and part
E on the right side. L
Z -.\
[~
Q (Dx8Pcs

Step 5

Page 6 of 10



Step 6 D ]

i x4Pcs
i ’] ?
- xgpes >\,/
Step W/

Page 7 of 10



=R\
&N/

—7 J 4_ 4

7 VR
/[
\ >

\ \
\ \
LY
] n, ‘/
N\

\_ o —  — /
MR RN

N

B

\’ T e——

=)

7
~ 7
7
a 7

£ 7/ 7

7/ -

7/ f
£ 7/ -
. /

/- /s \
\/

b & ] T\

—_

Step 8
Step 9



Step 10
NOTE: Please use the lockable ca
unlockable caster wheels for the back lo

for the front lower headboard and the
r headboard.

Page 9 of 10



Step 12

Page 10 of 10

N7
L,

7 7
v i 4
7/ v
7/ rd
7
7
7

Y4

7L
7L
r s
7/




